Tableaux des Puissances de Dix (A)

Multipliez le nombre de la rangée par celui de la colonne.
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Tableaux des Puissances de Dix (A) Solutions

Multipliez le nombre de la rangée par celui de la colonne.

X 1000 10 000 10 100
8 8 000 80 000 80 800
95 95000 950 000 950 9500
27 27 000 270 000 270 2700
31 31000 310 000 310 3100
70 70 000 700 000 700 7 000
X 1000 10 000 10 100
76 76 000 760 000 760 7 600
22 22 000 220000 220 2200
64 64 000 640 000 640 6 400
83 83 000 830 000 830 8 300
16 16 000 160 000 160 1600
X 10 000 100 10 1000
98 980 000 9 800 980 98 000
49 490 000 4900 490 49 000
65 650 000 6 500 650 65 000
17 170 000 1700 170 17 000
51 510000 5100 510 51000
X 10 000 100 1 000 10
36 360 000 3 600 36 000 360
65 650 000 6 500 65 000 650
9 90 000 900 9000 90
81 810 000 8100 81 000 810
82 820 000 8 200 82 000 820
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